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If the incidence matrix is find the directed graph
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Construct the linear equations to get the constants of curve y = a cosx + b lnx + c/x  to fit given data

Construct the linear equations to get the constants of curve y = a sinx + b ex + cx2  to fit given data
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Derive the general formula to compute u(x,t) at each point of the mesh expressed by uxx + p u t = a

Construct the linear equations to get the constants of curve y = 1[/ax+b]  to fit given data

Construct the linear equations to get the constants of curve y = a ebx

Derive the general formula to compute u(x,t) at each point of the mesh expressed by uxx + p u tt = b

Construct the linear equations to get the constants of curve y = a sinx + b lnx + cx  to fit given data


